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It is evident that Chulin, which - RATIRT IRD 79193 W P17 RPN
was slaughtered in the Azohroh, is not a Torah prohibition

Overview

The X723 cited a Xn*12 in which 17wnw " ruled that if one is W7pn a woman with 7217
72 0nwIw, she is nwTpn. The X1 derives from this that one does not transgress
an XN»X7 MR for slaughtering P71 in the 77w.! Our moown discusses the
implication of this statement that Xn>7IRT IR? 77TV WAV PO

nvoIN asks:
- )ha WTPN NN 19 DN NIYSY 39V 5317 13397 NIOIN NIINT ¥NRYUN NN YIND ON)

And if you will say; this expression of Xn>»71x7 W% implies that there is an 910K
313977, for this is what the expression of Xn»71X7 X% implies, so therefore how

can he be w7P» with 2"1wn, since there still is an 131277 MOX -
- YN ZMYY 1 WINPT (LK,T 97) ©INDT NIP $993 29 9NN

Since 21 ruled in the first P99 of 2’192 NOon, ‘one who is WP with y»r from after

six hours and onwards on ro» 27y -
= PYITPY PYWIN PN 192979 NIX D7NON DINT 3NNITIP 20N 19%9N)

And even if the P17 were made with 8n351792 wheat, which are only forbidden

133977, nevertheless we are not concerned for °21752; she is not nwTpn at all. So why
if one is wpn with 771va Ywonwiw P which are also Mox (albeit) 1327772, she is nwTpn, since we
see from s'21 ruling that even by an 13377» 7R3 MoK she is not nwTPn?!*

nBoIN answers:
= DNN DN 11929 YIY NN 29D NNMNINT MYY RN RIN ONNT 91290 YN

And one can say that there (by Xn»177p °v°n), there is at least 79\ hours,

according to the way the n''1 explained there the meaning of myw " -
= 513297 NN NION NID NON DAN

!'See 17121 1"7 °"wA that there is no TV W TIO°R nor an X7 NOK for 77TYA WOAWIY PRI

2 This is interpreted to mean after six hour have already passed; it is passed noon, where the yan 10X is RN™RTA.

3 See Mo there on wwn 7"7 2,1 that XN»177p *v>n are very hard and it is considered Awp y»n which is Mox only
71277,

4 The reason is that since in fact there is no value in this object since it is (132772) 78372 MoK, therefore she received
nothing of value.

5 The distinction seems to be that by ynn after myw ww there is an Rn>7IX7 Mo°X therefore the aman were Tna that even
mwp yan (which is 1312775 7I0K) is also X372 MOR and one cannot be wTpn with it. However by 771va 12in, there is no
case where it is Xn™MKRTM MOK, therefore 72y°72 if one was wipn with 2"1wn she is nwTpn according to w". See
‘Thinking it over’ # 1 & 2.
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However here by 2"1wr there is only an 33397 99K, there is no Xn»7X7 10°X at all.
tNVNPN NPNR PYNRY 2399 19298 KT 'NIPOIY 371999 NYUP KY 33 599099p 1 ¥

And even according to s'»"w9 explanation there, there is also no difficulty
according to the conclusion of the X713 here, since even according to w''9 she is
not NWTIPR with 771va wnwIw 1.

Summary
All agree that a woman cannot be nwTIp» even with an 1312777 AR17 MOX. It is possible

(in the ¥"7) to distinguish (by 71277 *M10°X) whether there is some 7710 aspect to this
T0N.

Thinking it over
1. According to the explanation n"3 nv>w>,® what would be the ruling (in the X"17),
if he was 131277 mywa wpn, with 2ma yan; would she be nwTpn or not?’

2. The &1 initially assumed that one may be w7p»n with an item which is 1312777 70K
(exclusively).! What would be the ruling according to the X3pon; can one be wTpn
with something which is 712777 71X172 70X (which has no 719°X 7710 associated with
it)?!!

65" there (Wwn 1"7 X,7) explains that 75yn1 Myw ww»n means the beginning of the sixth hour (an hour before noon),
when y»n is MOXR only 112772, Seemingly there is no difference between that case and this case, since by nywa ynn
nww there is no n"7m MoK at all. See X"waan.

7 The 83 concluded that "1 maintains that she is nw7pn (with 771ya 1°2117) only in a case where the mvRAWIY 7N
771v2 was found to be a 119", and therefore since it is a 7R 1KY 70AW it is not considered that it was 77192 vRw.
' Y.

8 See footnote # 5.

% See mwn N

10°See footnote # 5.

11 See nwn nom.
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